1.

e Y I e TSRy A
g I R | o wwa @ 7@ A AN
el 2 37 fy arff iR gear @ | T TR
T TRt SR S 2 3 FE gl F 9
iR & 3 et 3T g T B | 3T R
feper femm & ami o1 Wik ?

(A)

(B) ufzm

[ thejobsyogi.com

(C) Tfdm

(D) I

afs feh fifvea Hie § CHILDREN £
BGHKESFO for@r Sa 2 AR A

GEOMETRY & %8 forET ST@ 7
(A) EDNMFUSX
(85 FDNLFUSZ

(C) HDMNFUTZ

(D) HDNMFUTY

»
7

1.

2.

A man proceeding 10 the North turns

to the right. After some time, he takes

a turn to the left and again to the left.

Then he goes to his right and after

some distance again turns towards

his right. The direction in which he is

now moving is
(A) East
(B) West
(C) South

(D) North

If in a certain code, CHILDREN
is written as BGHKESFO, how is

GEOMETRY written in that code ?
(A) FDNMFUSX
(B) FDNLFUSZ
(C) HDMNFUTZ

(D) HDNMFUTY

-
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3.

o 7ot ¥ W HEA 2, 7 WA T, H
79 qrd T T 98T o1 37N 379 9 3 6
o B 39 qrer 39 | i T 8 S,
& I I TdHE W R 7

(A) 46

(B) 50

(C) 42

(D) 55 [ thejobsyogi.com

530 | 530 530 530 _ 4
(A) 8'%°
(B) g30
(C) 2%

(D) 232

R Q M % 3w @ 3 3 M, R % I
R, ARAQ TP fgm P am e ?

(A) I - 7
(B) I - uf=m
(C) cfqm - @&
(D) gfégor - afsem

3. Shamtells his daughter, 7 years ago,

| was seven times as old as you were
then. Also 3 years from now, | shall be
three times as old as you will be. What

is Sham’s present age ?

(D) 55

530 , 930 | 530, 530 _ o
(A) 812
B) 8%
) 2%

(D) 232

Towards which directions is Q from R
if Qis exactly to the east of M and M
is exactly to the South of R ?

(A) North — East
(B) North — West
(C) South — East

(D) South — West

2-D
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et (9. 9. 6 3 7) -

Th S A A ), 1) s v o aw v
2 | 9 Wi @rel @ | 39 W # d wEae,
3 freres, @ S 30 U s @ E | e
off AfSreT oA | A i 3 i we W |
o R AT 3 s fel of vifrer e T
2 | gl wiae W, 9 N @, uean § 9
TEdl & 3T ITH Hadl TH YSE B | TF g
ol e % N R | g et o s
%1 TSI T8 2 | e oiie W off wie wreft
TR

6. VAT F e ®e A dmM @A & 7

(A) @
(B) =
(C) =
(D) e It

|1 Tfe W fopas A B 7

Direction (Q. No. 6 and 7) :

In a building, there are thirteen flats on three
floors — II, [ll and IV. Five flats are unoccupied.
Three managers, two teachers, two lawyers
and one doctor occupy the remaining flats.
There are at least three flats on any floor
and not more than six flats on any floor. No
two persons of the same profession stay on
any floor. On the Il floor, out of four flats, one
occupant is the lawyer and he has only one
neighbor. One lawyer live one floor below the
other. The doctor is not the neighbor of any
of the lawyers. No flat is unoccupied on the
1l floor.

6. How many flats are occupied on the
IV floor ?

(A) Two
(B) Three
(C) Four
(D) Data inadequate

How many flats are there on the

1l floor ?
(A) Three
(B) Four
(C) Five

(D) None of the above

[51]
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8.

10.

g Srifes T T O F S A
1 g # watiies Tl T8 B

(A) T

Loy

(B) SR oA

78 Taenffal &Y we wen § 41 = wmw
A E IR 22 T wT oA & | B A
S o ATt ferenfial § @ 9 2 e
o & | fopae faemeff o7 g=i o @ fomelt oft
qTeeIshn 1 AifRd FE 8 7

(A) 6

(B) 15

©) 24 [ thejobsyogi.com >
(D) 18

45 BT 61 Tk el ° 3nfeey w1 b i

Y 9Rg 2 | < A 39 i fha1 8 7

(A) 33
®) 34
(C) 35
(D) fruifa ==& fopam <1 @ehan

8.

10.

It is a form of body language and most
important aspect in the communication
process

(A) Speech

(B) Eye contact
(C) Selectivity

(D) Both (A) and (B)

In a class of 78 students, 41 are taking
French, 22 are taking German. Of the
students taking French or German,
9 are taking both courses. How many
students are not enrolled in either
course ?

(A) 6
(B) 15
(C) 24
(D) 18

Ina class of 45 students, Aditya’s rank
is twelve from top. What is his rank
from bottom ?

(A
(B
(
(D

33

O
w
s

)
)
) 35
)

Cannot be determined

2-D
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11.

12.

i 'ts'i@“?ﬂqai‘ﬂﬁawﬁﬁmaﬁmﬁw
i

574 658 821 945 247

A T T 3 wge 37 1 & 1 w1 fe
ST, A $9 YHR S0 fraft g 4 @
s gty 7

(A) HIE &

(B) T

(D) =

o1 F0 H smw: 850 wft. 3 680 .
ToId 2 | Ush heAt ohl JfeIehad &l 1
2 51 a1 St % oI bl HIH wEdl |
U9 Tehdl 2 7
(A) 170 1.
(B) 180 .

(C) 200 .

(D) 195 .

[ thejobsyogi.com >

11.

12.

Consider the following three digit

numbers :

574 658 821 945 247

If 1 is subtracted from the first digit of
each number, then how many numbers

thus formed will be divisible by three ?
(A) None

(B) One

(C) Two

(D) Three

Two tankers contain 850 L and 680 L
of petrol respectively. What is the
maximum capacity of a container
which can measure the petrol of either

tanker, in exact number of times ?
(A) 170 L
(B) 180 L
(C) 200 L

(D) 195L

2-D
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13. afe 500 e fFe wr g fet & gmred 13. 500 workers can finish a work in
T ged 8, a 5 et § 3 e ) wme 8 days. How many workers will finish

FW ¥ forg fead afgss @t 7 the same work in 5 days ?

(A) 800 (A) 800
(B) 575 (B) 575
(C) 925 (C) 925
(D) 378 | 15 A8l (D) None of these
14, Fr=fafea sgeTar f HIT | 14. Complete the following analogy.
sgafd : I o 7 TH President : Country :: ? : State
(A) FEam (A) Chief Minister
(B) Tt (B) State Minister
(C) T=a9mA (C) Governor
(D) =3 (D) Speaker

v (w. 9. 15 — 17) : Fr=faflgs St &1 | Direction (Q. No. 15— 17) : Study the following
SMYE® TR B 3 2 feu o oy % information carefully and answer the questions

IWE | given below.
T T B U geUs S 99 w1 $ T Following are the conditions for selecting
frafefaa 2 | marketing manager in an organisation.
Iufiear &1 3TfaRdr 39 TR # The candidaie must :
| %8 ¥ H9 55% 371 & a1 fedt oft fagg |. Be a graduate in any discipline with
o ETdeh g8H1 98T | at least 55% marks.

Il. Have secured at least 40% marks in

||, 999 TR | &° 9 F5 40% 376 ST
the selection interview.

g & | _

1. fers Trgar & Sre frd gear % fyooe lll.  Have post qualification work experience
FIATT H FH Y FH 5 a6 B B A of at least five years in the marketing
2 division of an organisation.

2-D [8]
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V.

V.

=TI HET W HY Y w7 450, 31w WA

fopu =1 |

oo e 3 55 & w5 609% 3= S T
TR Tt / fewim & |

AfE H1s Iufigan wuft vt =1 @ = 2, fmm
34 foh,

i. 39U 119, Ife == qhien § 5 8 %5 60%
3% T e &1, @ amen Sf-fagum
AT ST 2 |

i, ST |l °, 3fe Aftrs Frea & s 39
U Jarus % ®9 § ®H O HE dF 9§l
1 S0 IV B, 9 JEen St - e

[‘ i WSl T 2 |

15.

T X ST F 56% 3F W< R
62% 37t & Ty fauvE # Taehel
ferft ot &t 3 we, 98 foreel Tmd 9 § O
Hee 3 oo S H S R E | I
T qhET § 62% 3ieh S T HIETTehR
ﬁBB%WWﬁSﬁ%I

(A) Fefiam &1 = TR ST R

(B) Iwiieam w1 <o T T < E
(C) e Sira O 1 S S 2

(D) e <t O B S S @

V.

Have secured at least 45% marks in
the selection examination.

Have a post graduate degree/diploma
in marketing management with at least
60% marks.

In the case of candidate who satisfies all
the conditions except,

I

15.

|| above, but have secured at
least 60% marks in the selection
examination, the case is to be
referred to VP — Marketing.

IIl above, but has post qualification
work experience of at least 3 years as
Deputy Marketing Manager, the case
is to be referred to GM — Marketing.

Rakesh has secured 56°% marks in
B.B.A. He has been working in the
Marketing division of an organisation for
the past seven years after completing
his Post Graduate degree in marketing
with 62% marks. He has secured 62%
marks in the selection examination and
38% marks in the selection interview.

(A) Candidate is to be selected
Candidate is not to be selected

Case is to be referred to
GM — Marketing

Case is to be referred to
VP — Marketing

2-D
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16.

17.

aut 3 .. § 59% 37 T foRd & | 3T

S ETETeRR § 42% 37 3T = gliEn
4 48% 3% wed fopu & | T8 75% 3T
& w1y fquue yee 3 S 10w
% 9Te fUoel 7 991 @ Ueh HEAT o [eqUH
AT 1 G E |

(A) Irigar %1 w3 fopan ST 8

(B) 3uficar o1 === & feram W 2
(C) mmelt Sfruyg fauue =i = ST 2
(D) wa Fidt fquur = 991 9T 8

it 3 9= TreehR 1 60% 31 3R T
TeT § 40% 37 T foRdl | 65% 37hi o
Y [qUuE yeua | S iden) sl el ol
FH o 91¢ 98 fUDcl 371S 91 § T qeer
¥ faom s § e W= @ g | 3
.. § 59% 3 e fhe |

(A) SHfEar %1 =54 foram ST &

(B) Swiear s = e fehan < 2
(C) WS STw faque i S ST R
(D) wwer st fador @l 9SS @

16.

17.

Varsha has secured 59% marks in
B.A. She has secured 42% marks in
the selection interview and 48% marks
in the selection examination. She has
been working in the Marketing division
of an organization for the past 7 years
after completing her PG in Marketing
Management with 75% marks.

Candidate is to be selected
Candidate is not to be selected

Case is to be referred to
GM — Marketing

Case is to0 be referred to
VP — Marketing

Nidhi secured 60% marks in the
selection interview and 40% marks
in the selection examination. She
has been working in the Marketing
Division of an organisation for the
past eight year after completing her
Post Graduate degree in Marketing
Management with 65% marks. She
has secured 59% marks in B.Sc.

(A)
(B)
(C)

Candidate is to be selected
Candidate is not to be selected

Case is to be referred to
GM — Marketing

Case is to be referred to
VP - Marketing

(D)

2-D
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18.

19.

20.

< 2,000 it iy wey = 794, gromer =
TR R A 2 | e o ¥ i b
ST bl IO 8 | 20 99 % 37 1 =T
ER I

(A) T 2,800
(B) ¥ 3,000
(C) T 2,950

(D) X 2,750

feferfad § & -1 weF g 8 gaiud

BRI

(A) &W Hied % fore gd 2 |

(B) B Hey = 3N §AIG WH % foe
gTd B |

(C) & Taarel =1 guE™ w¢ % fag
g € |

(D) zamn At g & 9 3 SdfsHan Tel
<d |

10 & 190 (21 et ¥) % = 10
mﬁgmqwﬁwaﬁw%ﬁ%?

(A) 90
(B)
(C)

(D)

95
110
100

18.

19.

20.

A sum of ¥ 2,000 is invested at 7%
simple interest per year. Calculate
the interest at the end of each year.
What will be the interest at the end of
20" year ?

(A) 2,800
(B) % 3,000
(C) 2,950
(D) % 2,750

Which of the following statement is not

true about listening ?
(A) We listen to learn.

(B)

We listen to build and maintain

relationships.
We listen to resolve conflicts.

(C)
(D)

Listening happens only when you
don’t respond.

What is the average of all the
multiples of ten from 10 to 190
(Both are inclusive) ?

(A)
(B)
(C)
(D)

90
95
110
100

[11]
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21.

22,

23.

a5 N-ifiges 30T % fore, sep vt
T 7 37T B

(A) 931 Eowor

(B) wr=dfirey

(C) bt

(D) Iuwdad # & i 7

T Weg g3 |
foam : fer : amgn
(A) T&

(B) amfem

21.

22.

(C) wmIf=m [thejobsyogi-com >

(D) Ten

auiE % fa fo wigm e mn o
. HIed & guar ) g2t off |

. siege =t 3roeft om & et i, wpmam
I HIET 3T W€ A forery |

(D) HTEER

23.

It is the study of body language used
for non-verbal communication

(A) Haptics
(B) Proxemics
(C) Kinesics

(D) None of the above

Choose a similar word.

Sitar : Guitar : Tanpura
(A) Trumpet

(B) Violin

(C) Harmonium

(D) Mridanga

On which day of week did Mohan visit
Bangalore ?

I.- Mohan took leave on Wednesday.

Il. Mohan visited his brother on

Friday, the previous day of his visit
to Bangalore.

Sunday

Thursday
Saturday
Tuesday

2-D
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24.

25.

o el ) vy 3R T Jug fereen
g |

% T T 8 e et 3 o i
T o

. S 1 d § e R T e ww A
el SIS o witEl womn o |

Il TGS % &2 i i & ag B 5 =g

3191 & 91 wifF 1 58 & ygat T
o |

(A) Faet | 91 Faet |7 fegr mar 2o
ey 2

(B) =¥ | 3R || g1 # e mam 2
CICERE

(C) whaet A | 1 feam o o1 vt 2
(R) Faet e |17 fezn o 2o v 8

Ife NECESSARY re€ & Ugel 3T et

I Y, Y 3R TS HEL B, Wad 3N
S 27e7 1 39 § Feo four e, A AT H
Traal 31er Frefafaa o 8 SH-a1 g ?

!

24,

25.

Read both the statements and choose
the most appropriate option.

In which month of the year did Rahul
go abroad for a vacation ?

I. Rahul correctly remembers that
he went for a vacation in the first
half of the year.

Il. Rahul’s son correctly remembers
that he went after 31%' March but
before 1°' May.

(A) The data either in | alone or Il
alone are sufficient

(B) The data in both statements | and
Il are necessary

(C) The data in Statement | alone is
sufficient

(D) The data in Statement Il alone is
sufficient

If the first and third letters in the word
NECESSARY were interchanged, also
the fourth and the sixth letters and the
seventh and the ninth letters, which
of the following would be the seventh
letter from the left ?




26.

27.

Ig U A I T S 8, HEY SHM
3R o0 T H e e # 37 fent

* THC B ! GUTEH] FEIa
(A) STt Ty

(B) wFmeF A

(C) e waree

(D) (A) 3T (C) Tt

gl =afwat Y 3 T I 9 : 7 ' 3R
3T =9 F UM 4 : 38 | A I ST
vifdt |18 T 2,000 =1 <Id 8, A 3Th! AT

™ T HIfY |

(A) % 18,000 3R T 14,000

(B) Z 20,000 37 T 20,000

(C) % 22,000 3 T 20,000

(D) ¥ 16,000 3 T 12,000

26.

27.

It makes a person happier, helps

build and maintain relationships and

increases one’s chances of success
(A) Physical health

(B) Positive attitude

(C) Mental health

(D) Both (A) and (C)

The ratio of incomes of two persons is
9 : 7 and the ratio of their expenditure
is 4 : 3. If each of them manages to
save % 2,000 per month, then find their

monthly incomes.

(A) ¥ 18,000 and ¥ 14,000
(B) ¥ 20,000 and % 20,000
(C) 22,000 and % 20,000

(D) ¥ 16,000 and % 12,000

2-D
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28. w1 firy gfny
| 28. Choose the odd one out.
(A) TSR
(A) Carrot
B
(B) s (B) Potato
(€) I (C) Beetroot
(D) @ (D) Cucumber
29. A B AU u@qam 2, C, A¥ afus | 29, Ais richer than B, Cis richer than A,
Y9 8, D, C O IUs g9 & IR D is richer than C and E is richest of
E Ha wfaes ga@ 2 | 3R 3= AHd all. If they are made to sit in above
¥ TR F R T fammn awn, @ f9 i degree of richness, who will be in the
. middle ?
I B ¢
(A) A (A) A
B) B (B) B
C) C (C) C
D) D (D) D
2-D [15]



55

3w (w. |, 30 3t 31) : =, W 3R Ve
ot 3N sfiwreht g 3 e & | T, T 3
e oft af sftreht ST & = 2 | e 3T
A wrdige & 3R I o S @ 3T 3N
Hi | e i Tae o st i anfa %
w=d | fifoat it wd) Rrdex 9 g3 € 3 I
Y, Tefler 3R Teter 70 & d9 9= 2 |

30. WY & Yl 9 1 Gay 8 7
(A) == g
Gy =T
(C)
(D) sl

31. g 1 freet & = Hey R 2
(A) == T
(B) ==
(C) wr
Q) S-F-a

32. F el @A 8 Wi, ud ) AR ik
6 Hi. I T 3R Toram & | @y 39k
3ifem foig & o= i gt @ gnft -

(A) 9.
(B) 487t
(C) 2.
(D) 10

Direction (Q. No. 30 and 31) : Sweety,
Ramesh and Shivender are children of
Mr. and Mrs. Agnihothri. Rima, Raju and
Sunil are children of Mr. and Mrs. Karkera.
Sunil and Sweety are married and have
two children Amar and Scnu. Geethika and
Rahul are children of Mr. and Mrs. Amin.
Geethika is married to Shivender and has
three children named Prathul, Pratheeksha
and Prathik.

30. How is Ramesh related to Pratheek ?
(A) Cousin

(B

(C

(D

) Uncle
) Brother
) Nephew

31. How is Rahul related to Shivender ?
(A) Cousin
(B) Uncle
(C) Brother
(D) Brother-in-law

32. A man steadily goes 8 m due east and
6 m due north. What is the distance
between initial and final point ?
(A) 9m
(B) 48 m
(C) 2m
(D) 10m

2-D r161
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33.

34.

& S, AR, 33 v st ER
UGS

(C) wfedfean

(D) wAIfagseam

U A3 312 ° TF g915 @ (eherdl &
3R 1000 fereft/ee it 7ife & ST H 3R]
J=al & | I TUY U 3= gG18 SIE 39
&ATS 312 U Feratan & 371X 1200 ferrt /e
aﬁrrr%auﬁanﬁaﬁwgm%m%a%
% @1 SHIl 1S e Th-gi § FRe
gt W B 7

(A) 300 15 frft

(B) 300 /33 ferrht

(C) 300 61 ferst

(D) 300 +/57 femt

33.

34.

It indicates traits such as outgoing,
talkative, assertive and energetic

behaviour

(A) Adaptability
(B) Optimistic
(C) Extraversion

(D) Neuroticism

An aeroplane leaves an airport and flies
due north at a speed of 1000 km/hr.
At the same time, another aeroplane
leaves the same airport and flies due
west at a speed of 1200 km/hr. How far

apart will be the two aeroplanes after

1—;~hr ?
(A) 300 V15 km
(B) 300 /33 km

(C) 300 /61 km

(D) 300 /57 km

[17]
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35. uH o Afedsh § G AR e § ThH
forvarerdta wew Ui T &HaT

(A) TR e
(B) wu§Yy

(C) Frgsera
(D) st

36. afe forefl o9 4 25 3vRd ! TRAR B,
39 WEiH U "iman i e e anft 7

37. T TOE & H01 H I 2:3: 4 R,
al g&" T8 HIv HiF-97 & 7

(A) 80°
(B) 76°
(C) 84°

(D) 92°

35.

36.

37.

The ability to listen with an open

mind and in turn send a convincing

message
(A) Social skill
(B) Communication
(C) Adaptability

(D) Counselling

It 25" of August in a year is
Thursday, then number of Mondays

in that month is
(A) 3
(B) 4
(C) 5
(D) 6

The angles of a triangle are in the ratio

2:3: 4. Which is the biggest angle ?
(A) 80°
(B) 76°
(C) 84°

(D) 92°

2-N
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few (v.9.39 - 41):

s P,Q R, S T, V, W3t Yus iR 3
% I AR W IFHR 93 ¢ o6 o0 @ =w i &
IR HEI T 9 & Tafch IR YA o 7 °
B 90 I W A = I 6 I T
05 43 3 wafs sl & A § 43 wafE A
# AR g@ w0 93 & | P, Foww g@ g H
AT R, V F o diEt I W AT 7 | T, e
@ g H AN, V &1 fehead weredl & # |
V3t W e Saa A 38R 1S, Q %
wﬁ@wwé&%l@wgﬁ%ﬁﬁﬁ?
2 | R, P freheem werHh T 7 |

39. Q% a0 U GEL WA RHBHA T 7
(A) P

vV
€ T
Y

38. Choose the odd pair of words.
(A) China : Beijing
(B) Russia : Moscow
(C) Spain : Madrid

(D) Australia : Sydney

Direction (Q. No. 39 — 41) :

8 friends P, Q, R, S, T, V, Wand Y are sitting
around a square table in such a way that
four of them sit at four corners of the square,
whereas four sit in the middle of the four
sides. Those who sit at the four corners face
the centre while those who sit in the middle
of the sides face outside. P who faces the
centre sits third to the right of V. T, who faces
the centre is not an immediate neighbor of V.
Only one person sits between Vand W. Ssits
second to the right of Q. Q faces the centre.
R is not an immediate neighbor of P.

39. Who is second to the left of Q7

[19]
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Which of the following is true

40. R % gay i fAefdied § | SH-41 40.
TR 7 regarding A ?
(A) R 1 q@ g Fl AR 2 (A) R faces the centre
(B) R, V 1 Fepean werfl 8 (B) Ris an immediate neighbor of V
(C) R, T3 S ot o= 4§ 931 2 (C) R sits exactly between Tand S
(D) Q, R % a1 & ot T W &3l 2 (D) Q sits third to left of R
41, VEEeH T T & TH F1 R 7 41. What is the position of T with respect
_ to V7
(A) =rff 3R gEa
(A) 2"0 the left
(B) wTfi AR <en
(B) 4" to the left
(C) =i 3R (C) 3"to the left
(D) et R drEw (D) 3 to the right
42. FHHOAT 4L 8, 3, -2, ..... & TS 42. What is the sum of first 22 terms of
22 UGl 1 AN FTE 7 AP.8, 3, -2, .7
(A) 979 (A) 979
(B) —979 (B) - 979
(D) —997 (D) -997
2-D [20]
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43.

45.

@aﬁa’;‘m’ﬁwm%wﬁam

SUH HEIEA] FE AR STTEATS @
gAg i gmar e 2

(A) g

(B) TATTHS A=

(C) foarg sreem

(D) ATATHATCH &=

Tdyr fim g |
‘K) 7324
(B) 9611
(C) 2690

(D) 1754

[ thejobsyogi.com >

43.

44,

45.

An article is sold at 20% gain on the
cost price. What is the ratio of selling

price and cost price ?
(A) 6:5

(B) 5:4

This involves the ability to negotiate

and resolve disagreements
(A) Leadership

(B) Creative thinking

(C) Conflict management

(D) Critical thinking

Choose the odd one out.
(A) 7324
(B) 9611
(C) 2690

(D) 1754

2-D
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46. W Ghwer wive o fEfafad § @ F=

47.

miHe & ?

(A) Tafga Uy
(B) @fspar s
(C) foame e
(D) v =i

FUF : YA & TEel Fda & ged
=] yav1 uisey H Ardfes canstt Hi
Tedl AN B |

fFreerd

|, e gt wrE | et
TE 2

Il. ¥Ra o T gand sl
BT B |

(A) e frsmd || 31gEer s 2

(B) hae e | 180T et 2

(C) = ar |3 || SFTETOT Hiel 2

(D) A4 |7 & I STTEwr e B

46.

47.

Effective communication skills include

which of the following ?

(A) Written communication
(B) Active listening

(C) Conflict resolution

(D) All of the above

Statement : The best evidence of
India’s glorious past is the growing
popularity of Ayurvedic medicines in

the west.

Conclusions :

|. Ayurvedic medicines are not

popular in India.

Il. Allopathic medicines are more

popular in India.
Only conclusion I follows

Only conclusion 1 follows

Either | or || follows

Neither | nor || follows

[22]
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48.

49.

frerfefas & Si-ar v amfr S
T B 7

(A) 99 T
(B) wgam
(C) Tuwm

(D) TEATHS 9=

Tofe 3 geg 1 TR Amn A A
FrargEr wwr
98 1 g H ) i T e &, I

g ) st @ s 200 ff
&1 gt FR & 7@ won | G A A g
et 2 7

(A) 1800 i

(B) 2400 et

(C) 1600 ferHt

(D) 2250 ferH

48.

49,

Which of the following is not a social

skill ?
(A) Building bond
(B) Collaboration

(C) Communication

(D) Creative thinking

Rajeev planned his journey to Mumbai

as follows :

th
He will travel % of the total distance

' th
by an aeroplane, % of the remaining

by train and the remaining distance
of 200 km by a car. What is the total

distance of Mumbai ?

(A) 1800 km

(B) 2400 km

(C) 1600 km

(D) 2250 km

2-D

[23]
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50. I ¥t sET o7 W1 B I G, HHSHT, Fidisha
31 37K e &, A G ek S qaTH eI

MU R HEd B |
(A) Rfesg sEor

(B) wlshe sl

(C) =ITIF e

(D) 3o Tt

51. I “NUTAN” ¥ee & 3181 sl =710 ¥ g1d
Juigshe H SFafeyd fRam W, at fehad
& TH & TIH /W& 7

(A) s T

52. fordlt =afga <1 aftfeufa § w0 =61 o
S o R TRl I ISR A1 3wl
I AT i THaT 8

M) HETHI

(B) HHmEY
(C) =

(D)

50. The bestkind oflistening which happens

51.

52.

when you hear, understand, respond
and remember what is being said is

(A) Passive listening
(B) Active listening
(C) Selective listening

(D) All of the above

If the letters of the word “NUTAN" are
arranged alphabetically from left to
right, how many will remain in same

position ?
(A) None
(B) One
(C) Two
(D) Three

It is the ability to share someone’s
feelings or experiences by imagining
what it would be like to be in that
person’s situation

(A) Sympathy
(B) Empathy
(C) Attention

(D) Listening

2'D [24]



53.

54.

G186 T 6t 1 1 v get 1 s
32 Tl % amdf ¥ % e A e 2 |
S TR S Em e § e # o
FET R | Hiew 6 7feag geE faad

Bt frem 9 o o o € 2

[ thejobsyogi.com

>

(C) 24

(D) 8

T8 LIS T2 S G o WY =Bl TE
U0 S 1 o wfssan o U gehilcAS
YATg 1 9iOT 2

o

(A) HIT =T

(B) gedl

53.

54. -

An army contingent of 616 members
are to march behind an army band
of 32 members in a parade. The two
groups are to march in the same
number of columns. What is the

maximum number of columns in which

they can march ?
(A) 16

(B) 32

The essential component that is the
result of a positive flow in our thought
process to communicate well with

others is

(A) Demanding

(B) Assertiveness
(C) Micromanagement

(D) Attitude

- o~





If an object travels at the speed of five

55. afy FE awg aig $ie i A Hi T @ 55.
ol 2, o 98 v ue § fobed hie i gl feet per second, how many feet does
T F=0h - it travel in one hour ?
(A) 300 e (A) 300 feet
(B) 3000 E¥ (B) 3000 feet
(C) 7200 %I (C) 7200 feet
w) 18000 $ie (D) 18000 feet
56. i<l € S =HEE H g BR A 25 IF 5 56. Inthe below arrangement, which is the
eRff 3R 7 97 37 HA-a1 8 ? 7" digit to the right of 25" digit from
right end ?
7,2,6,3,7,56,4,296,1.3 4, 1, 7,2,6,8,7,56,4,2,9,6,1,3,4,1,
.6: .31 9;/1, 5,}6, 91u2| 3! 11! 6’.5’ 41 3! 2! 6’ 3; 9, 1! 5, 6‘ 91 2; 3? '1, 6, 5, 4, 3' 2’
1,9,6,7,1,6,3 1,9,6,7,1,6,3
A5 (A) 5
(B) 1 (B) 1
(C) 6 (C) 6
(D) 38 & 15 T (D) None of these
2-D [26]



ﬁ%&m(ﬁ.ﬁ.STEﬁ'{ss) : A= T mn aw
mma‘faﬁzoooaﬂxzom%zﬁm%
TR Fl 6 DR st & g ) R

fosht (79w ) / Sales (in thousand) —

57.

Qirection (Q. No.57 and 58) : The bar graph
given below shows the sales of books (in
thousand) from six branches of a publishing

(B9 ﬁ) 1 agiia 2 company during two consecutive years 2000
' and 2001.
120
110 105 110
100 ] 95 95 95
90 85
80 | 22 75 75 80
-0 1 65 — 70
60
50 -
40
30
20
10 .
O A — -
B1 B2 B3 B4 B5 B6
@ / Branches — B2000
02001
S a1 & e e B6 < e foishl gl 57. Total sales of branch B6 for both the
a9l < fere sran B3 it gt fersht o1 fora years is what percent of the total sales
gfasEa 2 7 of branches B3 for both the years ?

58.

(A) 71.11%
(B) 68.54%
(C) 73.17%
(D) 75.55%

<l ot & fore wren B2 1 oot fashl
ST anl & feru vmar B4 i ot fushl @

58.

(A) 71.11%

(B) 68.54%
) 73.17%
)

75.55%

(C
(D

What is the ratio of the total sales of
branch B2 for both years to the total
sales of branch B4 for both years ?
(A) 3:5

(B)
(C)
(D)

~N BN
O 01 W

-
.
.
.

271



59. f=fefaa aifererr @1 AeTT L 3N

59. Study the following table and answer

the questions based on it.

I YR T Yo & IW T |

g T st e s o i e = (T )

Expenditures of a company (in lakh) per annum over the given years

=g H HE
Item of Expenditure
T g9 | uA IR uiEgd iRt SHUTH O ST W
Year | Salary Fuel and Bonus Interest on loans | Taxes
Transport

1998 288 o8 3.00 234 83
1999 342 112 2.52 32.5 108
2000 324 101 3.84 41.6 74
2001 336 133 3.68 36.4 88
2002 420 142 3.96 49.4 98

39 HalYU & A U T gfd 99 I
61 3iEa TR fhat gt Tt ?

What is the average amount of interest
peryear which the company had to pay
during this period ?

(A) T33.727T@ (A) % 33.72 lakhs
(B) ¥ 32.43 @@ (B) % 32.43 lakhs
(C) % 34.18 @@

(C) ¥ 34.18 lakhs

(B) T 36.66 9@ (D) T 36.66 lakhs

[28]



B
60.

61.

62.

ARl ELU.T W | 60. C .
BAYZ : CD ; omplete the following analogy.
£ BPXW R FEUY ;2 BAYZ : CDXW : : FEUV : 7
A
(A) HGST (A) HGST
B
. B) GHTS (B) GHTS
(C) EFYU (©) EFYU
D) B [thejobsyogi.com
(D) BAYZ (D) BAYZ
AU hive o et Frefeafes o @ fead 61. Lack of communication skills can result
qIT B Hehell B 7 in which of the_following ?
(A) ¥ (A) Confusion
(B) fmm (B) Frustration
(C) @ gu & (C) Missed opportunities
‘D] 39 wft (D) All of the above
9 T 3 T 9T ST 3THT ARy ? 62. What should come in the place of
question mark ?
| 2
ANZBOYCPXD?W ANZBOYCPXD?W
A Q (A) Q
(B) R (B) R
D) T
D) T !
[29]
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63. Az T 1203 4 s % w G 53
30 fedi % forg e s @A R, A
% 3008 6 =afF ¥ ufar 1 e
¥ o Hren 1 Ehal @ 7
(A) 25
(B) 40
(C) 5C
thejobsyogi.com
(D) 55 [ >
64. Treifafad § ¥ SH-T Th g IS 64.
IETE TR B 7
(A) T, TER{Rl % WY HIE H
<h! &HdT
(B) T W FHI AqT
(C) wmferes Hifean fauvE
(D) TF 3TEY hl HETEAUT
65. I8 qEU F1 gHR 3feeehIT HI FHH 65.
I 2
(A) I9E
(B) ifemar
(C) swom
(D) 3 & s T8
2-D

[30]

%120 maintain a family of 4 persgp,

(or 30 days how long ¥ 300 Maintajy,

a family of 6 persons ?

Which of the following is notan

example of soft skills ?

(A) Abilityto communicate with clients,

co-workers
(B) Leading a team
(C) Social media marketing

(D) Negotiating a contract

This is the ability to persuade other®

to our point of view
(A) Influence

(B) Aptitude

(C) Inspiration

(D) None of these
__//






66.

67.

W25ﬁﬂ%ﬁmﬁﬁaq‘r(aam%,ﬁ;{ag
Mwﬁnfgwaﬁ(2otﬁHWI
5 72 3t 9P sin qer ain 25 e
ENll Iagﬁﬂﬂm?ﬁmﬁaﬁtg—gaﬂ(
15n‘laaanagmﬁﬁ—os%§@w@

W IR fFg femd 2 7
(A) 60 Hiet gd
(B) 35 et
€ [thejobsyogi.com >
(C) 40 et gd
(D) 35 Hfex 3T

frefafad § & SF-a1 i %‘éa@%? 67.

RIEN

(D) —

66.

Rajesh walked 25 m towards South,
then he turned to his left and walked
20 m. He then turned to his left and
walked 25 m. He again turned to
his right and walked 15 m. At what
distance is he from the starting point

and in which direction ?
(A) 60 m East
(B) 35 m East
(C) 40 m East

(D) 35 m North

Which of the following fraction is

greater than % ?
A 2
=

(B)

~N

[31]
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68. Ft - | ¥ weg & ofF TR fau T @ @
el - 117 37 S feg e @ | & - |
=1 T g2t - 11 @ Hifse gen = feu

69.

T F W FE I G |

=l - | et -
(a) ¥8 | () 5=
(b) firH (i) =gl
(c) TTTEG (iij) TSI
e

(a (b (c)
(A) (@) (i) ()
| @ (i) (i)
) (@@ @) ()
(D) () (@) ()

gaar eg 1 Tel 3 Bar B

(A) Fomen 3=m 3=t & |

(B) Towert =R 31=at 7 7 |

() sl dieH dTel |

(D) Heh! T & FTe |

2-D

[32]

20, TN - | i 3R | wEfeE e ey

a % e e - W A T A s
Tt @ e E L EE - e
et - 11 @ e T T e

& I FAC |
T - | o= -1l
(2) W fah | () e
@R |
(b) TATATSH /iy e U IS £ |
(c) Fwaass i) STHR A faen
TG L @M lj
He .
(a) (c)
) (i) (i)
(B) (i) (i)
©) (i) (i
S T -




71.

72.

73.

FrefeRaa =m arerit # frrermares wdam
4 waftd serew @ gfi |

(A) T S g e R 2w 2
FE AU 2 |

(B) T® ™ A&l 7 & |
(C) <t &R | @R |

(D) S THA T W ?

RAE’ 3 w1 1 weg B, Freferfea
Wﬁﬂtﬁaﬁaﬁw%&g@]

(D) aAaTash

74, g - | # qevETEs @dAm & i e fu

T # aur g - |1 3 o Wl W 3gE
fev o 3 = - 1 foem, o= - 00w
1o e <A fau o e B HE IR g )

i -~ | ) = - i
(a) 7 TE ‘ (i) 7,7, A, 7,
5

(b) TeEd qE | () H, 7, 7 A
(c) FATE | (iii) 9, TH, AT,
| 3T =1
T
(a (b) (o
(A () (i) (i)
) i) i) ()
(C) (i) (i) (if)
(D) (i) (i) (i)
. Frefofiaa & sureRtions gfee | I8 I

w1 IR |
(A) aifer 3t Siaa 1 R FEY € |

(B) ey iR Sl 1 HES FY 2 |
(C) wfecr 3 Shem o wfifim @ser 2 |
(D) @feea 3 Sfe &1 afvs w5 7 |

2-D

[33]



76.

77.

78.

‘31 gredl o1 ETa o HEl 37 Bl TAH
fafay |

(A) F=aTE 7 TG@ms o

(B) @ | STd AT

(C) wli-wd g1

(D) HeHR HI

faearaTas a9 fFd FEd & 7

(A) 5 aril & fopeft %l & T 8
1Y gl 2 |

(B) for= aerri & fepeft fsmam =t &t Frqa
&4 &1 Y BT 2 |

(C) T aret @ %@ & g H Teg &
e &l |

@) 57 gl grI Sl <hl ST, S
e amefiate 1 &y & |

oeff it % sieia S -ah e 1w
a1 @ ?

(x) e, sEeft, SedteTer

(B) WRETEl, HaTS, HaTdl, EEI

(C) s, EEteiTett, B

(D) 3 & HI3 &

79.

‘&ﬁmﬂmﬁw’?ﬁﬁﬁa%‘aaﬁr g0
7 e ferrEe |

A) 1 3 AT S5 HE AT |
(B) SEeR gFa ST ST T R |
(C) it S IR AT A FEH A

Hdl |

thejobsyogi.com >

80. Tufdr arer & il Wi T[T |

[34]

(A) T5@ 9= © T € I3 aU @ A
fao gar 8 |

(B) o amer o wvft Iuamery wue w6l F

7 |

(©) Tora ot 3 wep W Syamey 3 3@

3T T Srern e IyarE @ |

(D) =19 Bt a1 wey foneft oft @ #E
Hehall B |






81. 'IHW ¥ Haww A - 83. ‘weH W wn weftenTdl W for@ W -
(B) 151 9 W (A) Tfgan wh
(B) aitem ¥ o (B) wfter wdt
(C) 11 (C) 3@ i
(D) =R (D) T wht

[ thejobsyogi.com >

82. U 9 & 31 & wdl Il fienss wreg 84, ‘TTF T TE TAEE VL B
fau 7T (A), (B), (C), (D) @ = w&t faspey

(A) GTh1
?ﬂﬂﬁ:

(B) TFHI
(a) TR SARAT | (i) TEE A

C
(b) TS B | (i) o (C) s
(c) TmEAT  |\(iij) T=e fhuen (D) T

5L

(d) WEET | (iv) TS AT

85. ‘WU % Wac™ SIEE | B :
(@ () () (d)

(A) s

(A) (i) (i) (iv) ()
(B) =R

B) @) @iy (i) (iv)
) (C) sl

(«€) (iv) (i) (i) (1)
(D) =@

o) iy @) @D W)

2-D [35]





87.

T SEt @ fieme @res 9 W B (A),

(B), (C), (D) = & =&l foreped = =41 :

(a) A/

(b) I

(c) HA<TEA

(d) FeHA

(i) T
(i) &rewt
(i) TTeHa

(iv) G&d, <Rl 8311

(a)

B) (iv)
(C) (iii)

(D) (1)

(b)

(i)

(i)

(if)

(ifi)

{c) (d)
(i) (iv)
(if) (i)
@ (v

(v) (i)

2-D

89.

90.

(D) EHeTl

TS % 1R 7 3 A ot e W @
Fhe3T T, 30 R .

(A) @i



91, H@aﬁaﬁﬁaﬁmnﬁqgm), (B),
(C), (D) = & =&t foeheq o1 =+

93. w& e firemes wier 7 T W (A), (B),

(C), (D) fasrea w & @&t = T

(a) gait (i) swieh
] (a) wdi-3ci | (i) FEI-<TE
(b) =ar (ii) 9t < |
(c) T (iii) 3= T T ) S-e | o
HT (c) E-T& | (iii) TER-3W
(d) wrm (iv) et
(d) i (iv) STEi-agl

(@ (b) (c) (d)
(@ (b)) (¢) (d)
(A) () (i) (i) (iv)
(B (i) (V) (i) (ii)
by (v) (i) (ii) (iii)
B) (1) (i) (i) (iv)
(C) (i) (i) (iv) (i) ) , ,
(C) (i) (i) (iv) (i)
(D) (i) (ii) () (iv) o @ (i) () 0

92. ‘M'%mWé%’ﬁ%: 94. ‘FHU-EHA’ § Y B

(A) @R (A) T
(B) @ (B) wEshife
(©) @m %} =

(D) Fm (B) s

2-D e
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95. et w ‘g o HEA :

96.

97.

(A) deT
(B) =red
() sl
(D) =&

‘ﬁiﬁ’im_@p@:
(A) T

1z ﬁq%wmém%ﬁa
3 SaH

(C) 9= &R
(D) u=rEt % |7

HIGT AT HA] LM S TTEl AT Al Al
B RGO

(A) T
(B) il
(C) ifn
(D) e

[ thejobsyogi.com >

99.

100.

haf % HaeE T
(A) T
(B) &
(C) et
(D) Term

BRI R

(A) 8 IR +W =@ |

(B) T & T 10 wiEl |
(C) 4 B 3199 & wf |
(D) # = =R % e |
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